[ Efficiency vs vertpos |
~ 0.1

L0.00F++[-++eeivereeeene:
2 5 5
L O
o . .
007 Tevieeeees
2 :
E0.0BF |-+
0.08f++-{--+-vieereeeeeae
O

0.03f -+
0.02

-
0.01 1T
O J—-\G- 1 11
S
@
11P = e e = = = = == = === s =e s
0.950

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT_mKFt-DQM_old132

Efficiend —— DQM_TT_mKFit-DQM new132
ICIeNd __,__ DQM_TT_ mkFit-DQM_newfast132

~N 1.2

efficiency vs ver

Ratio

0.95!

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 0.
>
8.0.09
£
50.08
20.07
oy
20.06
R
(&)
£0.05
(]
0.04
0.03
0.02

0.0

IIIIIIII‘.
N
——
_:._
e
S

...........................

.......

..........................

......

..........................

1.0

Ratio

4
i
.

o
a -
o
o1

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


